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Notes

M1: Selects the correct form for partial fractions.

dM1: Full method for finding values for all three constants. Dependent on having the correct
form for the partial fractions. Allow slips as long as the intention is clear.

Al: Correct constants or partial fractions.




Alft: Integrates px q dxzﬁm(z\ﬂ +3)_q]n(x+1)andno extra terms
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M1: Combines two algebraic log terms correctly.
B1: Correct upper limit for x = o by recognising the dominant terms. (Simply replacing x with oo
scores B0). This can be implied.
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A1l: Deduces the correct value for the improper integral in the correct form, cao A0 for2 lng

Correct answer with no working seen is no marks.
Note: Incorrect partial fraction form,
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